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(a)
1 while (TRUE) {
2 while (turn != 0) /* Bpdxoc */;
3 critical region();
4 turn = 1;
5 noncritical region();
}
1 while (TRUE) {
2 while (turn != 1) /* Bpdxoc */;
3 critical region();
4 turn = 0;
5 noncritical region();
}
TSL
1 enter region:
2 TSL REGISTER, LOCK
3 CMP REGISTER, #0
4 JNE enter region
5 RET
6 leave region:
7 MOVE LOCK, #0
8 RET
Peterson
1 #define FALSE 0
2 #define TRUE 1
3 #define N 2

4 int turn;
5 int interested[N];

6 void enter region (int process)

7 {
8 int other;
9 other = 1 - process;
10 interested|[process] = TRUE;
11 turn = process;
12 while (turn == process && interested[other] == TRUE)
13 }

void leave region (int process)

{
interested|[process] = FALSE;
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Producer/Consumer
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#define N 100
int count = 0;
void producer (void)
{
int item;
while (TRUE) {
item = produce item();
if (count == N) sleep();
insert item(item);
count = count + 1;
if (count == 1) wakeup (consumer) ;

void consumer (void)
{
int item;
while (TRUE) {

if (count == 0) sleep();

item = remove item();

count = count - 1;

if (count == - 1) wakeup (producer) ;

consume item(item) ;

}
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#define N 100
typedef int semaphore;

semaphore mutex = 1;
semaphore empty = N;
semaphore full = 0;

void producer (void)

{

int item;
while (TRUE) {
item = produce item();

down (&empty) ;

down (&mutex) ;
insert item(item);
up (&mutex) ;

up (&full) ;

void consumer (void)
{
int item;
while (TRUE) {
down (&full) ;
down (&mutex) ;
item = remove item();
up (&mutex) ;
up (&empty) ;
consume item(item);



